@ KONEPS

& A A" ASNYELH of 2t ¥ XS
NS NED BIIHZ 217 (BHE S 520-3) £ 9 J] B :02-3780-0724 02-3780-0740
bS] 3t :070-4056-8784 4770 NESEYAN S5 AHER 257-0 (A4S 101)
F A X :0505-480-1558 = g AN
= g H2H = ¢ 9o I :070-5117-5295 070-7500-3442
17501 IS OHEAl LA LE02 1936-0
<SFL > <EDI RHE>
= S} L} I 0l s
S8 D X #5: A 2 9 902
4 ZQ 2 Y 5 :12-19-1-37747-00 U4 E Q 2 Y X :2019/04/24
A 2 I B ASSYA BUAIY=E 2 oF Xt AQIOtARAIIE S X6
£ Q J oY 5 :1068300693 W = X 907
L2t & B S =85 :6111956 S =E dH 5
A XS = 85 1068300693 A QXS 2 B 5:4958200112
£ A B S AMZRID-902 M 3 Y 5:070-5117-5295
SHAHE 2 291 )| 2HH| D SHAHEHE ® QD] 2h:01 2t
JAQSES (1S 20 HAXN HESDE HotHS 12181064201 52 HQEHIZ 5t Ofeh
SIS AIRL| O128FAID| HIRFLICH SES HAXZAH et EE0HAID| bEELICH
= o A > 2> 2 g 2 o 2 8 g = 2 A 2 o~
39,351,210 212,490 39,563,700 s aE S e e S
ZT A Y RINMOIARERILIE) RHGHEAILE STR2ILNLZAY
= = = 5 =02F
= ggg g8 | 28 = g crel =) = = = 0| &t DSA}EX“ 3%3}%
e LR BEEE SR ER LEEA ol x 2 0% le=oe
OAmERTRE 58,490.0 219 2019/07/31
1 30111597[22535498|0tA 2 EZCIE, BB-2, | = ) _ = N Y
i30mm, O, 352, 012 12,809,310 212 N8 | u=x 4 sixie
= oS4
OIAZER2TR|E 68,940.0 385 2019/07/31
2 30111597[22535420[0t A EZTCIE, WC-2, | 2 — N Y
t13mm, JFZ, 352, 2= 06,541,000 5212 N8 | u=mx 4 e
= =S s
A28 M 604 SHOIFM MBI H: 39,351,210

- JIEH (308t HAE LICH ™LX} : 2019-04-24-18:09:42:262)
* A YZIINEENE HSEH SEQULICH S CHIHS 2 AZ22H 60 015 HEL = AR20= N
¥ JlBF A EBNESAME £2I120 ME5H00F SLICH
*SHAIBE=BE328 1 5% 0|4
*» REH LUSINEESAE MES S EQLICH S SOLHSF 812 2(2019.08.31) 22 H 602 015 U3
Cl= 220 HE SHIHBEME 227120 MS56H0{0ELIC
*



Xt XH =*OH 2+

3

mis}

oJ

o0 D

0 D

N

&=

qm_,nm

a0 R

iz O

o

=0

A=

Dlza% B
<z Y
o o Ru
& o
K{B0 O
AT K
T A
oo
K0 30 ﬁ
Az A
T X =
ok
5=

st Kd
ooy A
0 Il
S < e
g o
QK
<z %
&g Ki0
R
S O
R o
A 1A
o= R
WWEM oV oo
L= KY
D I
vg B
%N RD
RIaEm
QMH% SR
wo_._wo%b.m_“_
uBOn&Ao
0k 5y ™ =
m_.iD_u_W:_n_

=< =<
g@&ﬁﬁ
b g H0 RO
:ﬁm_mceaca
an LK K
Kidio 00

3

ol

FAID] BEHEFLICH

XA 5

OFCHCH
=i

4, JIEF22 = Al

o
=

>asdAX

EHI0| Xl (www.pps.go.kr) >EE M3

=
=

ot R

AN

2/2



